

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:1 of 6

ADJUSTMENT ON REPAIR COST FOR VEHICLE NO. SGB 2B

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	REPLACEMENT OF PARTS			
1	BONNET	REPLACED	18,473.00	12,931.00
1	BONNET LATCH ASSY	SERVICEABLE	2,499.60	-
1	BONNET LOCK BRACKET	SERVICEABLE	255.70	-
1	BONNET SPRING LOCK W/SENSOR (RELEASE SYS)	SERVICEABLE	1,581.70	-
1	FRONT BUMPER	REPLACED	12,077.60	8,244.00
2	FRONT BUMPER SIDE RETAINER @\$174.70	REPLACED	349.40	234.00
2	FRONT BUMPER NOZZLE @\$310.40	REPLACED	620.80	434.00
2	FRONT BUMPER NOZZLE PUMP @\$354.00	REPLACED	708.00	495.00
2	FRONT BUMPER NOZZLE COVER @\$75.00	REPLACED	150.00	105.00
4	FRONT BUMPER PARKING SENSOR @\$365.80	REPLACED	1,463.20	720.00
4	FRONT BUMPER PARKING SENSOR HOLDER @\$25.00	REPLACED	100.00	14.40
1	FRONT BUMPER SPONGE	REPLACED	782.30	547.00
1	FRONT BUMPER REINFORCEMENT	REPLACED	6,429.30	2,250.00
2	FRONT BUMPER SIDE GRILLE @\$675.20	REPLACED	1,350.40	1,350.40
2	FRONT BUMPER SIDE GRILLE CHROME @\$258.90	REPLACED	517.80	517.80
1	FRONT BUMPER CENTRE RETAINING STRIP	SERVICEABLE	1,553.80	-
1	FRONT BUMPER LOWER GRILLE	REPLACED	1,372.40	1,372.40
1	FRONT BUMPER HOSE	REPLACED	400.00	400.00
1	FRONT BUMPER UNDERCOVER (FRONT) LH	REPLACED	247.00	247.00
1	FRONT BUMPER UNDERCOVER (REAR) LH	REPLACED	247.00	247.00
2	FRONT BUMPER AIR VENT DUCT @\$250.00	REPLACED	500.00	500.00
1	FRONT BUMPER BENTLEY LOGO	REPLACED	550.00	550.00
1	FRONT RADIATOR GRILLE	SERVICEABLE	1,037.40	-
1	FRONT RADIATOR GRILLE PANEL	REPLACED	4,434.00	3,960.00
2	MATRIX GRILLE CHROME @\$3018.00	REPLACED (1PC ONLY)	6,036.00	1,728.00
1	FRONT RADIATOR GRILLE GASKET	SERVICEABLE	85.00	-
1	FRONT RADIATOR GRILLE RETAINING STRIP	SERVICEABLE	2,019.40	-
2	HEADLAMP @\$10179.60	REPLACED	20,359.20	20,359.20
2	HEADLAMP MOUNTING PANEL @\$2035.90	SERVICEABLE	4,071.80	-
2	HEADLAMP MOUNTING INBOARD @\$408.10	SERVICEABLE	816.20	-



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:2 of 6

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
2	FRONT FENDER @\$11251.00	REPLACED	22,502.00	22,502.00
2	FRONT FENDER INNER SHIELD @\$452.00	REPLACED	904.00	904.00
1	FRONT FENDER INNER PANEL LH	REPLACED	1,987.70	1,987.70
1	FRONT FENDER INNER PANEL RH	REPAIRED SEE LABOUR	1,987.70	-
2	FRONT FENDER WHEEL HOUSE @\$1462.30	REPAIRED SEE LABOUR	2,924.60	-
1	RADIATOR	REPLACED	3,117.00	2,628.00
1	RADIATOR LOWER SEATING PANEL	REPLACED	2,117.00	2,117.00
1	RADIATOR AIR VENT SHROUD	REPLACED	878.60	216.00
1	RADIATOR FAN MOTOR ASSY	REPLACED	1,428.70	1,428.70
1	SET RADIATOR MOUNTING BRACKET	REPLACED	150.00	150.00
1	AIRCON CONDENSER	REPLACED	3,107.50	1,800.00
1	SET AIRCON PIPES	SERVICEABLE	897.00	-
1	AIRCON CONDENSER FRONT PROTECTION FRAME	REPLACED	798.43	798.43
1	AIRCON CONDENSER DRIER	SERVICEABLE	544.00	-
1	AIRCON CONDENSER DRIER METAL BRACKET (TOP)	SERVICEABLE	214.00	-
1	POWER STEERING PIPE (BLACK)	REPLACED	387.00	387.00
1	POWER STEERING RETURN PIPE	REPLACED	350.00	350.00
1	POWER STEERING FLUID	REPLACED	200.00	200.00
1	POWER STEERING OIL COOLER HEAT EXCHANGER	REPLACED	2,879.00	00 2,879.00
2	TURBO AIR INTER COOLER @\$5348.70	REPLACED	10,697.40	8,640.00
1	TURBO AIR INTER COOLER SENSOR LH	REPLACED	410.00	410.00
1	TURBO AIR INTER COOLER SENSOR RH	REPLACED	410.00	410.00
2	TURBO AIR INTER COOLER CONNECTOR (S.S) @\$120.00	REPLACED	240.00	240.00
2	TURBO AIR INTER COOLER BOX @\$598.70	REUSE	1,197.40	-
2	TURBO AIR INTER COOLER HOSE LH @\$200.40	REPLACED	400.80	400.80
2	TURBO AIR INTER COOLER HOSE CLIPS @\$15.20	REPLACED	30.40	30.40
1	GEAR BOX OIL COOLER HEAT EXCHANGER	SERVICEABLE	2,778.00	-
2	GEAR BOX MOUNTING @\$950.20	SERVICEABLE	1,900.40	-
1	FRONT CHASSIS EXTENSION LH	SERVICEABLE	677.00	-
1	FRONT CHASSIS ENERGY ABSORBER LH	SERVICEABLE	541.00	-
1	FRONT CHASSIS INSULATOR LH	REPLACED	455.00	455.00
1	ENGINE CROSS MEMBER	REPLACED	3,150.00	3,150.00



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:3 of 6

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
1	SET ENGINE BRACKET	SERVICEABLE	3,872.80	-
2	GEAR BOX ABSORBER (MOUNTING) @\$1195.70	SERVICEABLE	2,391.40	-
1	FRONT SUPPORT PANEL	REPLACED	6,588.00	2,340.00
1	FRONT SUPPORT PANEL TOP METAL GARNISH	REPLACED	411.00	324.00
1	PROPELLER SHAFT	SERVICEABLE	9,579.20	-
1	HANDBRAKER MOTOR (ELEC PARK BRAKE)	SERVICEABLE	1,805.10	-
2	FRONT AIR SPRING DAMPER @\$10179.60	SERVICEABLE	20,359.20	-
2	STRUT-TOP MOUNT-FRONT SUSPENSION @\$1146.60	SERVICEABLE	2,293.20	-
2	FRONT LOWER REAR LINK @\$2182.40	REPLACED	4,364.80	4,364.80
2	FRONT SUSPENSION LINK UPPER @\$1046.60	REPLACED	2,093.20	2,093.20
2	FRONT SUSPENSION LINK LOWER @\$956.70	REPLACED	1,913.40	1,913.40
2	FRONT WINDSCREEN PILLAR "A" @\$7120.00	REPAIRED SEE LABOUR	14,240.00	-
2	FRONT WHEEL BEARING ASSY @\$3245.20	REPLACED	6,490.40	4,543.00
2	FRONT SELF LEVELING SENSOR @\$345.20	REPLACED	690.40	690.40
1	FRONT ANTI-ROLL BAR ASSY	REPLACED	1,758.70	1,758.70
1	FRONT ANTI-ROLL BAR CLAMP ARM LH	REPLACED	758.00	758.00
1	REAR BUMPER	REPLACED	11,528.60	8,353.00
1	REAR BUMPER REINFORCEMENT	SERVICEABLE	6,128.70	-
1	REAR BUMPER SPONGE	SERVICEABLE	661.00	-
2	REAR BUMPER HEAT SHIELD @\$251.20	SERVICEABLE	502.40	-
1	REAR BUMPER LOWER GRILLE ASSY	SERVICEABLE	1,542.00	-
2	REAR BUMPER SIDE RETAINER @\$185.50	REPLACED	371.00	371.00
2	REAR BUMPER SIDE RAIL GUIDE @\$307.00	SERVICEABLE	614.00	-
1	REAR BUMPER CENTRE RAIL GUIDE	SERVICEABLE	714.00	-
2	REAR BUMPER SIDE CHROME MOULDING @\$320.00	REPLACED	640.00	640.00
1	REAR BUMPER LOWER COVER	SERVICEABLE	521.40	-
1	SET REAR BUMPER REVERSE SENSOR	SERVICEABLE	1,658.70	-
1	REAR FENDER LH	REPLACED	19,214.50	13,450.00
1	REAR FENDER RH	REPAIRED SEE LABOUR	19,214.50	-
1	FUEL TANK COVER	REPAIRED SEE LABOUR	200.00	-
2	REAR WHEEL HOUSE @\$5478.00	REPAIRED SEE LABOUR	10,956.00	-



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:4 of 6

lty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
1	TAIL LAMP LH	REPLACED	7,500.70	4,069.00
1	REAR DOOR LH	REPLACED	26,783.90	18,748.00
1	REAR DOOR LOCK LH	REPLACED	1,594.50	1,594.50
1	REAR DOOR POWER WINDOW REGULATOR LH	SERVICEABLE	1,262.80	-
1	REAR DOOR CHROME MOULDING LH	REPLACED	488.70	488.70
1	REAR DOOR WEATHERSTRIP LH	SERVICEABLE	311.00	-
1	ASSY REAR SILENCER & PIPES LH	SERVICEABLE	6,429.20	-
1	REAR SILENCER WITH EXHAUST	SERVICEABLE	6,735.30	-
1	REAR END PANEL	REPAIRED SEE LABOUR	1,624.70	-
1	REAR SPARE TYRE FLOOR PANEL	REPAIRED SEE LABOUR	1,554.00	-
2	REAR AIR SPRING DAMPER @\$10179.60	SERVICEABLE	20,359.20	-
1	REAR ANTI-ROLL BAR	SERVICEABLE	1,713.70	-
2	REAR UPRIGHT RR 92MM @\$3360.30	SERVICEABLE	6,720.60	-
2	REAR DOUBLE (ANGLED) BALL @\$690.80	SERVICEABLE	1,381.60	-
2	REAR ASSY HUB @\$1467.10	SERVICEABLE	2,934.20	-
1	REAR CROSS MEMBER	SERVICEABLE	2,353.80	-
2	REAR CROSS MEMBER BUSH LH @\$185.50	SERVICEABLE	371.00	-
2	REAR CROSS MEMBER BUSH RH @\$185.50	SERVICEABLE	371.00	-
1	REAR WINDSCREEN GLASS MOULDING	REPLACED	358.00	358.00
1	SIDE AIR BAG UNIT	REPLACED	4,037.10	4,037.10
1	HEAD AIR BAG UNIY	REPLACED	2,694.70	2,694.70
1	SEAT FRAME	SERVICEABLE	1,668.00	-
1	FRONT FOAM CUSHION LH	SERVICEABLE	1,767.90	-
1	FRONT SEAT (COVER)	SERVICEABLE	11,746.10	-
	LESS 5% DISCOUNT		-21,409.35	-
	LESS 10% DISCOUNT		-	-18,287.97
			406,777.58	164,591.76
1	BACKREST COMPLETE (SN)	REPLACED	20,602.20	600.00
	LESS 5% DISCOUNT		-1,030.11	-
			19,572.09	600.00



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:5 of 6

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	SPECIAL NETT ITEMS			
1	SET FRONT BUMPER CLIPS (SN)	REPLACED	95.00	95.00
1	FRONT NUMBER PLATE WITH BASED (SN)	REPLACED	180.00	180.00
2	FRONT BUMPER ADJUSTER INSERT @\$105.20 (SN)	REPLACED	210.40	210.40
14	FRONT BUMPER SNAP NUTS @\$5.30 (SN)	REPLACED	74.20	74.20
2	FRONT BUMPER SCREW M6X16 @\$9.70 (SN)	REPLACED	19.40	19.40
2	FRONT BUMPER SCREW M5X20 WASHER (SN)	REPLACED	24.50	24.50
2	FRONT BUMPER SCREW M5X55 (SN)	REPLACED	31.10	31.10
2	EXPANDING RIVET (SN)	REPLACED	2.80	2.80
1	TAIL PIPE FINISHER RH (SN)	SERVICEABLE	1,285.80	-
1	TAIL PIPE FINISHER LH (SN)	SERVICEABLE	1,393.00	-
1	SET REAR BUMPER CLIPS (SN)	REPLACED	95.00	95.00
1	REAR FENDER SEALANT LH (SN)	SERVICEABLE	60.00	-
1	REAR WINDSCREEN MOULDING SEALANT (SN)	REPLACED	80.00	80.00
4	SET REAR TYRE RIM C/W (SN)	REPLACED	8,000.00	4,000.00
4	REAR TYRE @\$300.00 (SN)	REPLACED (3PCS ONLY)	1,200.00	720.00
			12,751.20	5,532.40
	<u>LABOUR</u>			
	TO DISMANTLE, REPLACE, CUT, WELD, KNOCK OUT DENTS TO STRAIGHTEN ACCIDENT PARTS AS-MENTIONED ON THE 'PARTS REPAIR' COLUMN INCLUSIVE OF REPLACEMENT PARTS. INCLUSIVE OF THE REPAIR OF FRONT FENDER INNER PANEL RH, FRONT FENDER WHEEL HOUSE, FRONT WINDSCREEN PILLAR "A", REAR FENDER RH, FUEL TANK COVER, REAR WHEEL HOUSE, REAR END PANEL AND REAR SPARE TYRE FLOOR PANEL.		7,500.00	3,800.00
	PUTTY & SPRAY PAINTING TO ADJACENT PANELS. JOB ALLOWANCE. PAINT / MATERIAL (5 PANELS).		3,000.00	2,200.00
	APPLY RUST PROOFING ON THE ADJACENT PANELS.		250.00	80.00
	REMOVE AND REFIX UPHOLSTERY AND CUSHION SEAT TO FACILITATE REPAIR.		500.00	120.00
	SPECIALIST CHARGES - COMPUTERIZED WHEEL ALIGNMENT.		180.00	60.00
	REMOVE AND REFIX FRONT UNDERCARRIAGE WORKS (LH/RH).		600.00	500.00



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:6 of 6

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	REMOVE AND REFIX REAR UNDERCARRIAGE WORKS (LH/RH).		600.00	250.00
	CONDUCT WATER LEAK TEST FOR REAR PORTION ASSOCIATED REPAIR WORKS.	NOT NECESSARY	150.00	-
	REMOVE AND REPLACE REAR BUMPER REVERSE SENSOR & CONDUCT DISTANCE SAFETY SETTING.		100.00	40.00
	REMOVE AND REPLACE FRONT PARKING SENSOR & CONDUCT DISTANCE SAFETY SETTING.		100.00	40.00
	REMOVE AND REPLACE REAR EXHAUST SYSTEM.	NOT NECESSARY	200.00	-
	REMOVE AND REFIX REAR WINDSCREEN GLASS & INNER TRIM TO FACILITATE THE REPLACEMENT OF REAR FENDER (2-MAN JOB).		180.00	120.00
	REMOVE / REPLACE AIRCON CONDENSER AND REFILL AIRCON GAS.		150.00	100.00
	REMOVE / REFIX RADIATOR, TOP UP COOLANT & CONDUCT PRESSURE TEST.		120.00	80.00
	REMOVE AND REFIX ENGINE TO FACILITATE THE REPLACEMENT OF ENGINE MOUNTING. (INCLUSIVE OF ENGINE LIFTING-TOOLS)		600.00	350.00
	SPECIALIST CHARGES - CONDUCT FRONT CHASSIS ALIGNMENT.		300.00	200.00
	SPECIALIST CHARGES - AIR BAG RESET (AGENT).		1,000.00	300.00
	REMOVE AND REPLACE GEAR BOX MOUNTING (INCLUSIVE OF LIFTING-TOOLS)	NOT NECESSARY	450.00	-
	SPECIALIST CHARGES - DIAGNOSTIC FAULT CODE / RESET (AGENT).		2,200.00	400.00
	WIRING / BULB CHECKING (INCLUSIVE OF RE-FOCUS / RE-ADJUST ON ANGLE OF LIGHT INTENSITY).		150.00	80.00
			18,330.00	8,720.00
	GRAND TOTAL		457,430.87	179,444.16

RECOMMENDED COST OF LUMP SUM REPAIRS	143,550.00
(TO ITS PRE-ACCIDENT CONDITION)	

Report Ref No. CS3/AIG20013257/Gty3e2-1

MARKET VALUE: \$131,000.00(EST)-LTA REIMBURSEMENT VALUE: \$33,427.00=NETT VALUE: \$97,573.00

XING GUO QIANG

M.MATAI, AMSAE-A

ANG BRYAN TA

ANG BRYAN TANI

Automotive Assessor / Investigator

Automotive Assessor

DISCLAIMER OF LIABILITY TO THIRD PARTIES:- This Report is made solely for the use and benefit of the Client named on the front page of this Report.

No liability of responsibility whatsoever, in contact or tort, is accepted to any third party who may reply on the Report wholly or in part. Any third party acting or replying on this Report, in whole or in part, does so at his or her own risk.